
СИСТЕМАТИКА​
XVII олимпиада по математике. 1 тур ​

7 класс 

Задача 1​
Ответ: А) Уравнение 
не имеет решений в 
целых числах​
Баллы: 6 баллов​
​
Задача 2​
Ответ: Г) 20​
Баллы: 4 балла​
​
Задача 3​
Ответ: А) 2​
Баллы:  4 балла​
​
Задача 4  
Ответ: Г) 92 
Баллы: 6 баллов​
​
Задача 5​
Ответ: Б) -2 и 2​
Баллы: 5 баллов​
​
Задача 6​
Ответ: Г) 46​
Баллы: 6 баллов​
​
Задача 7 ​
Ответ: В) 64​
Баллы: 5 баллов​
​
Задача 8 ​
Ответ: В) 82 
Баллы: 4 балла​
​
Задача 9​
Ответ: В) 4​
Баллы: 5 баллов​
​
Задача 10​
Ответ: А) 540​
Баллы: 4 балла 


